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Q. P. Code: 2S1HINLO1

Reg No

B.A/B.Com/BCA/B.Sc/BBA/BSW I Semester (SEP Regular)
Examination, Feb/March -2025

Subject: 1) R $r A Fafaar

2) feer ooT & fafaer v
3) I Qregraelr
Duration of Paper: 3 Hrs. Maximum Marks :{
Instruction to the Candidate:
| fFl a7 WAl & 3 S g 7 faf@u (10x2=2|

1) o] & faw & Har & A F4r @w?
2) HAar & Rar oy @ Rag & v #@ar F7at &=a 872
3) el T SF. sREERST # o R wE g §7
4) WeT geat & d1g i F T SEM?
5) ‘Rrar Fer F frw wwEm F1 R 7
6) ITSMERETS 3id # H-dr ARl & e sy &2
7) GO-RE FEeh B A B e el gde 82
8) ‘Aeiarell IRA’ 39 Fglell & v FHEAT &1 RFOT &2
9) Wﬂ&wm@mﬂ%mﬂw%mﬂe
10)

11) Torr R @ga €72

12) Srorarer 1 HWT FY Fga &2
Il fregl e #7 el Trsdewor faf@u| (3x5=1¢
1) ‘@l @Y A AT &, fRae 9 FE? A8 A3 Mo WA-AS T @ T
2) “‘Aiged H §H W90 & TFAF §, IR AT T HA-oRT S &, N9

3ieY | arfgwl”
3) ‘@15 ¥ ST Where 14T @ Heha|”
4) g, # 31S & SR FEAAr F aar & R g ARy wie @

I Tl gy weat & 3wx AR (2x10=:
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Q. P. Code: 2S1HINLO1T
1) '9er gl a1 ari fafavl
2) aifat Y wrgwd cyaryr #F I fhawr w1 Sfaer fhder weewe o @
W AF FeN F IUR W Fase Hifael
3) ‘gA-E Fwgred @1 AR @)
4) 'argdy FHglen 1 gRie @]

IV et ar amt &1 aR=rg dferel (2x5=10)
1) far
2) R
3) Terer
4) AR
V A) frdr T e & W AR (1x10=10)

1) TSCHTST IS Tehell T F31 gl FI5C HfeC|
2) fg=dr omwT & fafaer vt &1 wigca R )
V. B) Rl di el 1 R F s Al (5x1=05)
. Engineer
Senior
Consent
Annual
Co-Ordinator
Tender

N o o bk~ oD

Verification

& Scanned with OKEN Scanner



Q. P. Code:_126BCM03XXXOEC05T

Reg No

ALL UG 111 Semester (NEP-Regular) Examination, Feb/March -2025

Subject: Advertising Skills (OEC)

Duration of Paper: 2 Hrs. Maximum Marks :60

Instruction to the Candidate: i) Attempt all the questions as per the internal choice.

)

11

2)
3)
4)
5)
6)

7
8)
9)
10)

i1) Use simple Calculator.

ii1) Section ‘D’ case study is compulsory.

SECTION-A
Answer any five of the following (5X2=10)

a) What is advertising communication?
b) Give any four objectives of advertising?
¢) What is media selection?
d) What is advertising copy?
e) What is advertising agency?
f) Write any four merits of internet media?
g) What are the ethical aspects of advertising?
SECTION-B
Answer any three of the following questions. (3x5=15)
Discuss advertising as a tool of communication?
Explain the types of advertising agencies?
What are the elements of advertising appeals?
Explain the types audience analysis?
Which kind of tests are used to measure effectiveness of advertising?
SECTION-C
Answer any two of the following questions (2x10=20)
Explain the nature & significance of advertising. ,
What are factors determining the media selection?
How to prepare ads for different media?
Explain the different aspects to be considered while selecting an advertising agency?
SECTION-D
Case study (compulsory) (1x15=15)
Mr. Prakash is running an ad making company, in recent times company is suffering from
losses, you need to answer the following questions for repositioning of Mr. Prakash’s ad
making industry.
a) List out the best features of an advertisement.
b) Draft an advertisement copy for a soap.
¢) What are the best content for advertising in the Indian market?
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Q. P. Code:2CIXXXMO03T

Reg No EEREENER

B.COM I Semester (SEP Regular ) Examination, Feb/March -2025

Subject: Marketing Management

Duration of Paper: 3 Hrs. Maximum Marks :80

Instruction to the Candidate: 1) All sections are compulsory.

2)
3)
4)
5)

0)
7)

8)

DT IARLR FE,0z09N CVIDAD.
2) Answer all the questions as per internal choice.
230307 30, IYNDT0 20, FIJ,nNLn evdDAD
3) Question No. 9 i1s compulsory
&8, "o 9 FE 0N

SECTION - A
Answer any ten of the following (10x2=20)
a) What is market ?
b) What is buyer behaviors?
¢)  What is market scgmentation?
d) What is trait?
¢) Define market positioning?
) Lxpand
1) FMCG  2) KYE
g) Define advertising ?
h)  Who s wholesaler?
1) Whatis cost plus pricing?
i) What is online marketing?
k) Give two examples of green marketing?
)  Whatis voice — mail marketing?
SECTION- B
Answer any three of the following (3x5=15)
Briefly explain buying process of a consumer.
Write a note on contribution to core competencics by Prof.C.K.Pralhad.
What is pricing ? Explain good pricing policies.
What are the drawbacks of online marketing?
SECTION -C
Answer any two of the following. (2x15=30)
What is marketing environment ? Explain Macro marketing environmental factors.
Explain the market positioning strategics.
What is product life cycle? Explain its stages with product pricing & promotional
Strategies.
Section-D
Case study (compulsory) (1x15=15)

Jajab company wants to manufacture electric vehicle (two-wheeler ), but in recent times
problems are found in E-vehicle especially, in two-wheeler section, Being a manager give
Suggestions to Jajab company for following questions.

a. List out the problems you see in the electric vehicles in recent time

b.  What kind of improvement to be made to reach Indian customer?

c. Draft a adverusing copy for E-vehicle
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Q. P. Code:2CIXXXMO03T

PWIADY BT
81 YN ). odey)merte B3 7, w3 DAD 10x2=20
5005TE3,, DOTBOBLRI?
DOIDTI00 SBRBPT DOTIBLRII?

98T, LDWBR DOTTL?
OFED DOTIVLR?
0T, MO NS, JIDAD?
DRDAD
e9) FMCG
) KYC
003, 03V AD
Anéd) g0 0330)?
2323, a0 3), 33 AND QOTTENI?
37° €3, 30 TE 30N QOTTER?
DAV T30;00RCE5e DTV VOB BBRPY, DCT?
B BT TWRTF E30TT DOTITED?
ed2FOM- 29
FYNS 035953) T HeVF, 3 DAD 3x5=15
M®E DO &)3)oHoDR, BOF P eIoN IeIOAD.
). AT D[R B 9008 @ FNGFFNPH TR WO £3e3,£
220000
2363 ANB DHOTTBER? 35 2363 AE3NTR, JeIDAD.
37 €3, O TE 30T BRI 3NYD 035953,
don-8d
FYNS R0 ©B,Nv ) H0wd &B,NPR w3 DAD (2X15=30)
S70BEE307T BOET DOBBERI? Wy LIV®s e300 TFES, WOATT 3¢S
27953 1ETHTI L903NFR, ISOAD.
T500TE3, ATV B0ZNF), JIDA.
TR 220D 23F) DOWTER? e3R8, 2363 203y, &)2Fe0 3ogneodn
9530 BOINY, LDTOA.

=800 95300 (F,0H IyF,) (1x15=15)
2227927 BOTAO D38, T TOBRNTR, (DRIT) 2393B3) SOOI
20HRIZT, B3B3 BILBS OINYS, WOTR, Q-ROBINGD JCTIoN D2FT)
TOBSNYE), BACENT) TOB WAST. N WX’ FORBDOD 39532 0°
e3NTHE)TDOT S8 FYNS Wy, NN FoBINR FOBAY, .

2. 23BN OINYS, 2e38,,T I0BINTYOTI e FRCBE BDA;ODR,

3 3k,
b. 23903t0% MYBTOR, 3T 03503 D€303) RIGTBONT),

S 3CH.
o @ DET,N 203 Fy3ohah, CBA.
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Q. P. Code: 251XXXCoyy

6)  The Constitution of India is '
A) Rigid B) Flexible  C) Veryrigid D) Partly rigid and partly flexible

O0IE ROITOIEY). ...

A) TDRTONG  B) AOYERNE  C) €93 30N D) gorid: FO ¢orid A0Y
In which year, first amendment to the Constitution of India was made?

A) 1950 B) 1951 C) 1972 D) 1962
QiR FTFEE), F0IFINT, SABOR ARBROHTY, 0B ID0NI).?

A) 1950 B) 1951 C) 1972 D) 1962
Indian Constitution is called as

A) Lawyer's paradise B) Politician’s paradise

C)House of legislators D) Judge's paradise.

7)

8)

2R03T F0IGIRT), & 08 F30DheDNG.

A) 38¢e0 B NE B) Doz Ta0eaNne = NE
() 29A%0 AT D) 0903508830 A RE
Article 1 of the Indian constitution declares India as
A) Union of states B) Federal state
Q) Unitary state D) Quasi-federal state
%3903 F0ITONE 2,0BL0H PO 2308353,
A) D92 N% 2 BR,EIeTONG B) ROOIT, Tozg

C) DT3,T Totsg D) e90¢ 2.B0REd T
10)  Preamble consists of three justice -

A) Social, political, economic B) Social , cultural, moral
C) Economic , educational, moral D) Social , educational, political
BPTFAOT SR FPNT 2DHT T9;00 2¥RLOBT.
A) ARTPAT, To3CO. 3DFT.
B) R0308T , RMO0OR, 3T Sy3F
C) 3DFT, BFOT, [y
D) ROTPRT, 3,F8T, To LoD
11)  Directive principles of state policies are guidelines to
A) Central Government B) State Government
C) Government in power D) Prime minister

D025 068 ATCEBT I3Meh QEF, eonE IWNToN.
A) FCOT3) RTFO
B) To%s ATOFO
C) e95TI0EE) B3 ATOF TN
D) Ty =03
12)  Who is the chairman of Rajya Sabha?

9)

ROT PRLARIIT

A) President . B) Vice President

C) Prime minister D) Speaker
Dots; B30 ARG F 03007

A) O0&,, 33

B) SVB0IR,,eSS
C) BN 0
INEEIARE
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13)

14)

16)

17)

18)

19)

Q. P, Code: 2S1XXXCO1T

How many members are nominated to Rajya Sabha ?

A) 12 B) 10
C)8 D) 14
Oa%s; BIoDe). dad), FEH;0) PoshE0eannofBIZY0?
A) 12 B) 10
C)8 D) 14
The original constitution consists of
A) 384 articles B) 450 articles
C) 419 articles D) 395 articles

RO TN F¥NBORTITHTI?
A) 384 JBneh
B) 450 IRrish
C) 419 BN
D) 395 AN

Which form of democracy is in India?

A) Presidential democracy B) Marxist democracy
C) Single- party democracy D)Parliamentary democracy
2P03E), 03503 &0 &3 IT?

A) 953,300 I g3,

B) 359%,F00d 2o I3,

C) OF IF Fo JgH3,

D) RoRBCDH &2z Jye3I,
Which does apply to the President of India?

A) Head of the nation B) Head of the Government

C) Leader of majority party D) Leader of opposition
2D03C 09, 3 FON O350eHT) eI ANRIZTI?

A) T3, T3 &300;R.0) B) ATOF O &3N3

C) WEBITNI TFLI eDIWOTIT D) cABREE BFT cDIDOTIT)
The final interpreter of the Indian constitution is

A) President B) States

C) Parliament D) Supreme court
ROITRR 95 ,F R 03D PT0Y BSONT.

A) 090, B3g0

B) OozgNed

C) ROR3),

D) RGPFLE, J9;035000D

Which article of the Indian constitution does relate to organization of village panchayats?

A) Article -40 B) Article -14
C) Article-32 D) Article-51

70N 039E3 IO MYED B0zF0H 3N F0zrEIRN F0WORATI?
A) 40 3¢ 2B

B) 14 3¢ 00
C) 3230

D) 513D

At present right to property is
A) Human right B) Natural right
C) Constitutional right D) Legal right

23708 €372,08) T, Lo
A) TITORIES B,
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Q. P. Code: 281XXXCOi T

B) J,ANET BB,
() ROBINI,T B,
D) TSP W, B,
20. Indian parliament consists of
A) Only Lokasabha B) Only Rajyasabha C) President D) All of the above.
WRUIE HOAI), QINFR), w0,
A) BB SRTRY
B) 3&© Tossad
C) 0Oo&A,,:3
D) SBROS de)IP
21. Who is the guardian of the constitution?
A) Loksabha
B) Parliament.

C) Supreme court
D) Rajyasabha.

%PTV3 F0ITOST BFF 03500)?
A) SetER3 B) ROR3Y,
C) RIS BRCEFE D) CossAes
22. Which is the biggest written constitution in the world?
A) India B) US.A
C) France D) England
IR, 93BG, NI BOITON 0350eHT30?
A) 25903
B) €223¢dT0
C) Py,
D) on ors
23. Directive principles of state policy have been borrowed from constitution.,
A) Ireland C) America
B) England D) French
T02%500€8 DTEFST 33, MY, R0eIFTOSDOT BTWOHedN.
A) e3F0r
B) €930
C) |aon oz
D) =023
24.  Articles of the Indian constitution deal with directive principles of state policy.
A)12 to 34 C)36to 51
B)39 to 52 D) 41to 51
23903 R0IGOIT _ 30NS BOBLTNE) Dot dTEdT 33N 27, IRORIIE
A) 12 8oz 34
B) 39 8oz 52
C) 36 8o 51
D) 41 8o Sl
25 A money bill passed by LokSabha can be delayed by Rajyasabha for a maximum period of
A) One month B) Four months
C) 14 days D) Six months
4
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29,

30.

Q. P. Code: 2S1XXXCOIT

SRETRLIONE). TORIT BEHTORY RPN, TozsALS 11O,
93 0NRITN SR RODWIIT).
A) word dodwd

B) 4 800w
C) 14 ozcw
D) 6 300
To respect the national flag and national anthem is
A) Fundamental rights C) Directive principles of state policy
B) Fundamental duties D) All the above.

DOR 3% 300N TE ,,NE0DRY, FPTIRIHT)
A) DROBHI BT,NG.
B) cDROLIRI TIF 350N 3.
C) Oo%50(8 DWEEFT 33 200N3.
D) DT DI

Through which amendment were three new words ‘socialist, secular and integrity” added to
the preamble?

A) 24™ amendment B) 42" amendment
C) 44" amendment D) 86™ amendment

SR HTOD), WOIV;3E3, RN 0 LT BRR WENTR,
035953 3B FRANI0E DTN, AEOFIINT.

A) 243 2T

B) 423¢ $mHma

C) 443¢ 3T

D) 863 SHTB

Who among the following was the former prime minister of India?

A) K.S. Hegde B) Ramakrishna Hegde
C) J.H. Patel D) H.D. Devegouda.
&1 BYNTITE), 03500 RTIE 3302 TS SoZneh ?
A) T.Q&°. BNA
B) DoadTyas,, N3
C) 23.0023°. WEI

D) &3e3°.0. CXSIPT.
The meetings of the cabinet are presided over by the

A)Speaker of Loksabha B) Prime Minister
C) President D) Governor.

Tog2)3E3 B2303) €953 30D, 30ATRF2IeIT.
A) SRITRLION T3
B) Zood eHog,

C) Uoes,,&59
D) Togeio®
Who established record in the history of Lok Sabha by becoming first woman speaker?
A) Indira Gandhj B) Meera Kumar

C) Pratibha Patil D) K.S.Nagarathnamma

w
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32.

33.

34.

35.

Q. P. Code: 2SI XXXCO1T

2
B 0P ReTDRIABNIHET a0 03500 3R, 80 3THOAT
TRV DedEATIDT?
A) RORT MOOKC
B) e300 33500
C) &3 woddeer®
D) T.00&. NONC3,a,
The parliament enacted the citizenship act in
A) 1963 B) 1952
C) 1955 D) 1989
AOAI), F°03 B3 ToARTER, TR IR SRE
A) 1963

B) 1952
C) 1955
D) 1989

Where is fhe seat of the supreme court located?

A) Chandigarh B) New Delhi

C) Kolkata D) Ahamadabad
R BREIES TGO B ) T3?

A) ol

B) STBB)

C) Tete,am,

D) e9®mDTLRT"
Which is not the fundamental right?

A) Right to resist. B) Right to assemble
C) Right to constitutional remedies D) Right to freedom of religion.
C359eH T3 TR NI BTI,NTITIHDE) .

A) 3238370 BIY,

B) A23 A3y @,

C) ROIGONO3,T JOTOTT BB,

D) T0eFT A9, 303 B,
Which article of the Indian constitution deals with procedure of amending the constitution?

A) Article 368 B) Article 365

C)Article 352 D) Article 268

23003 AOTIRTTI 033923 IO RB0LITIRE ST H[EROD R IADTN IR
39RZTI?

A) 3683 2B
B) 3653 28
C) 3523 29
D) 2685 25.

Which fundamental right was dropped from the list of fundamental rights by 44"
Amendment?
A) Right to propenty

B) Right to equality
C) Right to constitutional remedies

D) Right against exploitation.

6
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37.

38.

39.

40.

Q. P. Code: 2S1XXXCOIT

35953 TROLEI BT, 14:3¢ 3B, B THROT Heee3 BHLNY

263,005 3radeNG?
A) €33,00) B,
B) RSI30 BB,
C) RODTONIT FOTOOE BB,
D) 3ACREBOD ITIT, B,

The main aim of directive principles of state policy is to establish.

A) Welfare state B) Democratic state
C) Capitalistic state D) Communist state
D905 8 ATHETT 33,N s NELD A0, A RIYTIONG.

A) TR0 DO
B) R0RIQ3.T Uo%s
C) WORBFTodo TUO%s
D) RDI0D Toss
Right to freedom of religion is one of the

A) Fundamental rights B) Labour rights
C) Political rights D) Economic rights
TReNET AR, B0IT3 BB, WOT

A) DDPOLIPI DD,
B) TOIIET T
C) Toz8tod BB,
D) e3DEFT BT,
Which is the permanent house of parliament?

A) Lok Sabha B) Rajya Sabha
C) Legislative assembly D) Legislative council

R0RS 03,3 AT o35R)T?
A) SeCTRLS
B) To%ssRed
C) ARG
D) AGRS ORI,
Who was the first president of Indian Republic

A) Dr, Radhakridhan B) Dr. Zakir Hussain
C) Dr. V.V.Gin D) Dr. Babu Rajendra Prasad

23003 Ned 00250 AT ATAVE ORI O3500NE 87
A) T39. DOGI0ZRe™’
B) T3o. ByodtT’ BIRCD’?
C) CB9. d.d.NO
D) T30. 2302 02e00) FyAOR®
Which article does separate executive from judiciary?
A) 50 B) 38
C)52 D) 40
035953 DO TOOSIEONDOT 05030001, By3LRIZT ?
A) 50

B) 38
C) 52
D) 40
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Reeto [ [T [TTTTTITT] &

B, : III Semester (NEP Regular) Examination, Feb/March-2025

Subject: Financial Education and Investment Awareness
Duration of Paper: 60 (min). Maximum Marks :30

Instruction to the Candidate:
1) Check for complete printing of 30 questions
2) The last page of the questions paper may be used for rough work
3) Each question has four multiple choice answer and choose the correct one.
4) Darken the appropriate circle with the ball pen 5)
5) Damage/ ovenwriting using whitener on the OMR sheets are strictly prohibited
6) No candidates will be allowed 1o leave the examination hall till the end of the session and without
Handing over his/her answer sheets 1o the invigilator

7) Candidates should ensure that the invigilator has affixed his/her signature in the space provided
On the OMR.

1)  Each questions has 4 multiple choice answer and choose the correct one. 30x1=30
1 Savings is also called as ..
a) Unspent Income 6)
b) Non- Taxable Income
c) Gross Income
d) None of these

P IICDHIN, ........ QOTH FOALIIZAT.
3) DWF IRET 40D
b) 30MR LvSBES oD
) 28, oo
d) QPHnY). ol &e).,

2 Corporate Tax comes under which type of Tax in India.

a) Indirect Tax
b) Dircct Tax
¢) Provisional Tax
d) Nonc of these

FozIne 301 13003r), adwes &350 30RaRNG.
a) #0eg 3on
b) o 3dR
0 F}FHOT IR
d) QiR esey,

3 What is full form of GDP

a) Gross disposable Pay
b) Gender diversity program
¢) Gross domesne product 8)
d) None of these

GDP gPaF 0 D
A) wth, B3 Fbo Se3F
B) ©on 3,355,300 FoahF &b
Q by, Stdaob sd 3,
D) RNV, OIRFH) €9y,

N

Q. P. Code:126COMO3XXXSECO04T

Which is the first bank to introduced savings account in India
a) Bank of Hindustan
b) General Bank of India
c) Presidency Bank
d) Bengal bank
20030, twPFoodh p3aha, HDFAAE w907 odeg)h
a) 239;0% B OB
b) %IV 239,0F 35 WOl
o JAR, te;0F
d) oMo 239,07
G3hich if the first bank to introduccd Intemet Banking.
a) Canara Bank
b) [ICICI bank
c) Panjab bank
d) SBI
AOAITRIET 20,0501 9D, BOWANAT W0F CQLIRH
a) 0D w;0%
b) DADAD W;0F
€) JOWW W07
d) .20 esadr
....... Is the a technique used to calculate the fulure value of present cash flow.
a) Discounting
b) indexing
¢) Speculating
d) Compounding
....... TR INH BDIF 233,68 P, STo500 ST
WYARLT JoIha.
a) Dalahs
b) wodsont
) VTOTHRB
d) Roodetz
Which of these are examples of Direct Taxes.
a) Income tax
b) Corporate tax
¢) Wealth tax
d) All of the above
AINYE), 3t I0AALH evmTOR clRy.
a) esciecd 30R
b) Fozydrie! IOA
) Nox3N 301
d) AT D e.
Which year was the banking regulation Act passed in lndia?
a) 1935
b) 1934
c) 1949
d) 1947

Scanned with OKEN Scanner

G



9

10)
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12)

Q. P. Code:126COMO3XXXSECO04T

WR0IE), w0 AoDoFw  FPchohad, oes SIFEO
©0NFDR DAV
a) 1935
b) 1934
) 1949
d) 1947
Which of the rates are decided by RBI.
a) Bank rate
b) Repo rate
¢) CRR
d) All of these
Ay oo BonYRL, REI QGFDIZE,
a) wW9z0% B3Jd
b) deldet I
) CRR
d) adwsd
Which of these are shareholders in the business?
a) Shareholder
b) Suppliers
¢) Employees
d) All of these
APHNVS), ol 3,:352006), TeN 0.
a) R(CLERUD
b) FPO,FL00)
o) VBELNAND
d) asdoasy
This 1s onc of the most popular ratios used to assess liquidity position of the firm
a) Debit equity
b) ROCE
¢) Current ratio
d) Interest
ach RoROL O3 A 30DHRD, DRFONIL) YRS 93,03 YAl
TNV, LOTINS.
a) AOT eF.Ll wdhawd
b) ROCE
¢) FRr3 a3
d) 2B, @90, edEe3
Profit maximizations ......
a) Long term concept
b) Short term concept
c) Decision on shareholders.
d) None of these
@923 MDF MRDVZIIF .....
a) BFRFHHOD JOFO S
b) esero SIBHAH JIDFOS
¢ SCHzecd &bte3 dgeFd

w

13)

14)

15)

16)

17)

Q. P. Code:126COMO3IXXXSEC04T

d) OITzHE) ey,

What is the full from of NPS
a) National provident scheme
b) National profit scheme
¢) National Pension scheme
d) National protection scheme.
NPS & &3prer O ard?
a) 09,008 23035 A3tz
b) Ood,tad ezl cdetas
0 TRa,tah S0l odetas
d) Cod,,lodh OFrse adtas.
Income carned from property is termed as ——
a) Wage
b) Profit
¢) Rent
d) All of the above
€32, 053 APAT ATIANTJI, --—-—---- D08 FoaheRMHIR.
a) #RO
b] w3
o) watan
d) DI QO
Increase in cost of goods and services is termed as
a) Capital appreciation
b) Rate of return.
c) Inflation
d) None of the above.
F0® D), AUINY ISahe), B3 IeY -——------- Q0W STFNG.
a) Wodwey B M.
b) €30l TIC.
) Eeadd
d) St aleaHch ese).
Which of these instruments arc dealt with capital markets?
a) Equity
b) Bonds
¢) G- securities
d) All of these
ANV, cIRTRFINYR, oV t500HFé NV, =D uerh3d
a) e 83
b) weor nY
o 2- 7393w
d) s3dop
Who holds your securitics in clectronic format?
a) Bank
b) Repository
¢} Depository
d) None of these
DS3T,,NT* SABF)., Az, BFInV, ol Beobmed?
al eR;0T*
b) 23ozEad

B
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19)

21)

Q. P. Code:126COMO3XXXSEC04T

¢ OIS
d) CIRIE e

-- government savings scheme aims o encourage the parents to secure the future of thei

minor girl child

3) Sukanya samnddhi yojana

b) Pradhan mantn jan dhan yojana

c) Aul pension yojana

d) Beu bachava ben padhova yojana
—— JTorD wwdsood aletzSodhy I, ©T9E, Bwd, DR
Pdw; [, XOFITNDIO JplRFdH, en3deexHad rMHdDod.,

BrOo1A.
a) AT Ae,B, Adetxm
b) FJIIIN0Y = ZX* AdetES
) edder HowFed o3t
d) 23643 weFadee 23643 Smaade adetas

A pooled money from a number of investors who shares a common investment objective 1
called as

a) Equity investment

b) Venture capital

¢) Murual fund

d) debt capital
PTRT; BART BLITI, BOWINYE DO JBeDFECDOG
RONoReRNE B3, ---------- D0& T I3,

3) S84 BT
b) RRTBRALILED WORTTY.
) DS Fors®
d) AOT WOBIY
Which of the following 1s stock market regulator in India?
a) RBI
b) AMFI
c) BSE
d) SEBI
& FYNIYNYS), 0PI 23903TE), Je0H 0TS, JoHITONG?
a) esor. D.esodr.
b) .2z .57, esodr*
) DoFa
d) A" e308r
PMVVY investment scheme is for the
a) Senior citizen aged above 60 years of age
b) For munor girld child below 12 years of age.
c) For small scale industries
d) None of these.
2.030.e.e) 0L, BIBT C3ACZTIOD) ODDMOA ---------
a) 60 TFF Do, dadH TrdTOR
b) 12 3TF 70D S AtSPIE wWowsn.
) R, T,MRDIADA.
d) QsICD ese) .

w

23)

24)

25)

26)

Q. P. Code:126COMO3XXXSEC04T

Which is the first bank to mtroduced mutual tund?

a) Bank of baroda
b) ICICI Bank
c) Punjab bank
d) SBI
DREZDTEY* For® 7, BDWNALW BREW 239;0F° 03I0HTI?
a) 0T 3:* WOALE
b) ICICI 239;0%*
¢) O 239;0F*
d) OF".0.e50%"
Impcrial bank of India became.
a) Bank of baroda
b) Panjab national bank
c) State bank of India
d) Reserve bank of India
20038 F0ADOH T 239;0F* SOITHE), &t 239;07* 3N,
a) 239507° e3:° WO
b) TWozey FosmRTeT* L39;0T°
c) R L83 W9;0F° e35° ROl
d) 2390.3¢03 DETIF 239;05°
What is the compound interest (CI) on Rs 10,000 for 2 years at 10% per annum compoundec
annually?
a) 2,100

b) 12,100
c) 2,000
d) 12,000

G0 10,000 3¢ 10 B03 2 IRFNPR WHR, T, MHIT?
a) 2,100
b) 12,100
c) 2,000
d) 12,000
TDS stands for
a) Tax deducted at source
b) Tax deducted at from savings
c) Tax deducted at scrvices
d) None of the these
T.D.S & 7,3 BRI
a) emp0dh dhword) 3R TR 3
b) evPIoDT), 30N B3I
) RSBV, 3018 s d
d) ORI ey,

RTGS stands for
a) Real transaction gross settlement

b) Real transfer gross settlement
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30)

Q. P. Code:126COMO3XXXSEC4T

¢) Rcal ime gross sctilement
d) None of these

RTGS % ,3 ORI
a) DODE* 30T MNYx* R Dok
b) DOy €)X O° MyA* AT sHoss
) Dober &,83r myx* Jéx ods
d) oY ey .

In which year was the RBI act enacted?

a) 1935
b) 1934
c) 1947
d) 1950
RBI 520 B3aHRD, 035083 ST ), B3eTno3y?
a) 1935
b) 1934
c) 1947
d) 1950

Who is the current chairperson of SEB1?
3) Mr. Shaktikanta das
b) Ms.Madhabi puri Buch
c) Ms. Nirmala Sitaraman
d) Ajay Tyagi
2¢2D( SEBI) 0 3,%0,3 e53,;3d> adreda?
3) 3¢ JToNI* ToA*
b) 3taH3 S5 HoeF*
o) 3D ATHFUD AL ITITHI*
d) 3t oxabh 9N
In the context of mutual fund what does SIP stand for?
a) Simple interest payment
b) Systematic investment plan
c) Sample indicative profits
d) None of the above
SwedTer Fos* N oB0IeE), SIP DI, FeAIIT?
a) ROV W&, o33
b) F;32.3 BRBT 3RS
¢) ACOY FRWFT 03
d) O ).
Which of these is not a money market instrument?
a) Certificate of deposit
b) Commercial paper
c) Treasury bills
d) Bonds
& YN oI TEar [T, BIHneh SNIHD)..

3) O3B JDore  b)derdes BF ) DS Ve AH d)wR0E,

~4

N

AN
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Q. P. Code: 2SIXXXCOIT Q. P. Code: 2SIXXXCOIT

R 6)  The Consutution of India 1s
S { I I I l I ] I | I I | | A) Rigid B) Flexible Q) Very ngid D) Partly ngid and partly flexible
) 4 2030 RO .......
B.A, B.Com, BCA, BBA, I-Z.Sc_& BSW I Semester (SEP Regular) Degree A) 20sNG  B) ROVaRNE O ©3 30maeNd D) 2irid: ¥ 2end: KoY
Ex:\mmanon, FCbm1arCh - 2025 7 In which ycar, first amendment to the Constitution of India was madc?
Subject: Political Science A) 1950 B) 1951 C) 1972 D) 1962 ,

Introduction to Indian Constitutional Values-1 o :{aer F0)RFT, SAGOI SCHBB0H, FPTBRAII) ?

Duration of Paper: 11rs. Maximum Marks :40 A) 1950 B) 1951 C) 1972 D) 1962
8) Indian Constitution is called as

A) Lawyer's paradise  B) Palitician’s paradise

Iastrucnions to the Candidates:
C)House of legislators D) Judge’s paradise

1) The question paper will be given in the form of a question booklet.

2) Each question 1s provided with four choices A.B.C.D having only onc correct answer. Choose
the correct answer and darken the bubble corresponding to the question number using the ball pen 2038 X0, & D3 FdabedNd.
( blue/black) in the OMR answer sheet A) J#C00 X e B) Oozs 500N it
3) Each correct answer carries one (1) mark and no negative marks for unsolved or wrong answer Q) 2950 AT D) No;03ef¢I3 X RE
question 9)  Article 1 of the Indian constitution declares India as
A) Union of states B) Federal state
1) Indian Constirution is a carbon-copy of which act ? Q) Unitary state D) Quasi-federal state
A) 1909 Act  B) 1919 Act C) 1947 Act D) 1935 Act - s .
23003 K0TS 2,0833¢0D DD 2IDTITID, Q0T ALATIT
2P0IT TOITORY I T0H,ab FFen F3axNG ? ; : e
A) Doz MY W& LeNE B) XOCINT, Tatyg
A) 1909 To0d, B) 1919 0%, C) 1947 Foad, D)193S Fwad, O o5od.z ooz P AT o
2)  The first meeting of the Constituent Assembly was held on___ 10)  Preamble cons:sm oflharcCJusticc : bl d
A) December 11" 1946 B) December 9™ 1946 ) .
y A) Social, political, cconomic B) Social , cultural, moral
C) November 26" 1949 D) August 15" 1947 C) Economic , educational, moral D) Social , educational, political
= 9,
RO DD Red 30 S X2 &NG S _ ‘n‘faf}“' :;f‘a:é";i e L
A) BFOWT 11 1946 B) @X0owd 9, 1947 pefiac i g%g :
) JF020 26 1949 D) eartx, 15 1947 ) ¢BFS, 3 .ft‘éii 3‘3033 d
3)  Which s the listonic day in the constitutional history of India? B mm'&; 5 ﬁt"é; e et
A) 26™ January 1950 B) 26™ November 1949 FOSNEHT: S4 - O .
C) 15" August 1947 D) 6™ august 1942 m D"‘;‘;g;:::;g‘:: ;’: :::: policies are swgk;hsnucrclz et
LPUIS 0TI, T B3TRTY), D3TAT O NS ) Goverpinesivt oS el
A) 26 2330 1950 B) 26 IZ020 1949 D240 3 ACCFIT 33,Meh aEE, done Xednwwhsd
Q) 15 esntx, 1947 D) 6 &%, 1942 A) Bt0g) X59FT
N B) Doz, X9FO
4)  The Constituent Assembly of India consists of __
A) 389 members  B) 296 members  C) 93 members D) 73 members O UQEaUdO_d.)d NTFONH
D) FeS o3, ‘
R0IGRN 3T Kedr3ah weieold XTX0 Xodd,_ 12) \Vhr:\l,sl:hc c:au(man of Rajya S—\b;a'-'v =
A) 389 RTI%,0) B) 296 RE=0) O 93 XBIX,;0) D) 73 KTIX,0 o [,l’_.;‘c:m'lm D: S;;h'r“' cat
£)  The idea of a constituent assembly was first conceived by 092, X230 XLIOGHE OdT)?
A) Mahatma Gandhi in 1922 B) Jawaharal Nehru A) ooat, 33
C)MN Roy in 1934 D) Congress Party in 1936 B) uuasgaa =3
RoITeN O Xad) 30D JTR0TRD, SRS F3ToDATTD O I ;5‘03)
A) LI I, MOG 1922 O B) om0 JE0) D) XPI3
Q) T . A o201 D) B0 &S§F 1936 T,
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13)

14)

15

1)

17)

18)

19)

Q. P. Code: 2S1XXXCOIT

How many members are nomimated to Rajya Sabha ?

a)12 B) 10
o8 D) 14
Do, VDY) DR, TTIZTH THFOeReob U 328?
A)12 B) 10
OFf D) 14
The ongrnal constitution consists of
A) 384 arncles B) 450 arcles
C) 219 arucles D) 395 arucles

DRV F0ITIIDY) WE¥RROBTITHTH?
A) 384 DN
B) 450 ODYH
C) 419 IDeH
D) 395 IDMEH
Which form of democracy 1s in India?
A) Presidential demnocracy
©) Single- party democracy
LOTITO). CIPT 220 /LI LIT?
A) T3 ab T LI,
B) SR¥Fa0d I &3,
O 2% JIF Jzo F3,
D) RO FJ2 3N 3,
Which does apply to the President of India?
A) Head of the nation B) Head of the Government
Q) Leader of majonty party D) Leader of opposition
LTI ToaE,, 55T 0N Coaytdd oy A>3 a?
A) ol 5 s, K0 B) ToFUE &00;X.0)
0 VEEDI IFT SDOUWD D) 8.0(E SIFH sIDOT
The final interpreter of the Indian constitution 1s
A) President B) States
Q) Parliament D) Supreme court
ROJITRN &5 FRT 035D RIOY RTINS
A) D533, 5E0
B) Coz,neh
C) ROXRZ,
D) RTpFy, To00000
Which article of the Indian constitution does relate 10 orgamization of village panchayats?
A) Arucle 40 B) Arucle -14
C) Arucle-32 D) Arucle-51
ROJTRT iR JDHOL) Myeh J0OHINY JoLEIIA XowoRAd?
A) 40 3t ID
B) 143¢30
C) 323¢30
D) 51 3¢ JI0
Al present ngh 1o property 15
A) Human nght B) Natural nght
C) Constitutional nght D) Legal nght
TR 3 A0 ), 2,00

A) TRIT B,

B) Marxst democracy
D)Parliamentary democracy

20.

21.

22.

24,

15

Q. P. Code: 2SIXXXCOIT

B) S,ANFT B,
C) RODTRIIT BH,
D) WL VT, B,
Indian parliament consists of
A) Only Lokasabha Bj Only Rajyasabha  C) President D) All of the above
2038 ORI, APV, wvieodd
A) S0 detERY
B) XL 0928
C) ok, B8
D) SOOI Qe
Who 1s the guardian of the constitution?
A) Loksabha
B) Parliament
C) Supreme court
D) Rajyasabha.

23903 X0JFRES OFT adedy?
A) SetTERz3 B) ZOX3),
O Boted Fetéss D) Cozsnzd
Which is the biggest wnitten constitution in the world?
A) India B)US.A
C) France D) England
03,59, ©38ed, IDI X0IGR clIT?
A) 203
B) &0
O T,
D) monRoa*
Directive principles of state policy have been borrowed from_____ constitution.
A) Ircland C) Amenica
B) England D) French
09255003 ATUFBT IJNAVRD, __ ZOIFIIDOT FBohesnNdd
A) OdFot
B) x0T
C) monloa*
D) Jou
Articles of the Indian constitution deal with dircctive principles of state policy
A)l2w0 34 C) 361051
B)39 to 52 D)4l 51
2803 X0IPIT _ SONS J03LTn) 02, EF3F 330V R ITI0NES
A) 12 8o 34
B) 19 ex 52
C) 36 o 51
D) 41 8 51
A money bill passed by LokSabha can be delayed by Rajyasabha for a maximum period of
A) One month B) Four months
C) 14 days D) Six months
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27.

30.
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SpFRPZODHY), ToRE BraFR) sHRATIOD, Tozss<e3 MO,
&JIDabIOR 3B R AHLTOT.
A) womh 3ocdh

B) 2 300w
C) 14 a7
D) & soriw

To respect the national flag and national anthem is
A) Fundamental nghts C) Directive principles of state policy
B) Fundamental duties D) All the above.
0o, B2 Tore Ood,,Nt3abhaby, P8R
A) DrOPAI BF),NB.
B) &R0 FIFamoNa.
C) O9%sgrdt 8 QBT 33 a50N3.
D) 2O 3R
Through which amendment were three new words ‘socialist, secular and integrity” added to
the preamble?
A) 24" amendment B) 42™ amendment
C) 44 amendment D) 86" amendment
ATTOLIOD), 2039, 363, AEDMH3 D02 &RT) BAA BEAT,
AR 3o SRAI0T ABTVLINT, ADATINS.
A) 243: 34
B) 423: ;=0
C) 443 :=5
D) 863c shza
Who among the following was the former prime minister of [ndia?
A) KS. Hegde B) Ramakrishna Hegde
C) J.H. Patel D) H.D. Devegouda.
&1 FYNITO, 05a0) 21083 3502 FHos ehoneh ?
A) T.OX. BB
B) CoabE,s, B3
0) 2.5 S8
D) BB, cteStrPa.
The meetings of the cabinet are presided over by the
A)Speaker of Loksabha B) Pnme Minister
C) President D) Governor.
T9;20:3¢3* 30D 953, F 30D, FDABRV,TT.
A) Sptga3od Fes s
B) &0 =hos)
C) 03,33
D) Oo%;a00)
Who established record in the history of Lok Sabha by becoming first woman speaker?

A) Indira Gandhi B) Meera Kumar
C) Pratibha Paul D) K_S.Nagarathnamma

31

32.

33.

34.

Js.

Q. P. Code: 2S1XXXCOIT

TFab Howd FZPTI0IMNHE0 AT 030 SAFRB0DS), 03TAT
o3 QedFATD,B?
A) 0BT ModHt
B) «Jt09 Haded
C) &350 Joddter
D) T.QF. Jonod, D,
The parliament cnacted the citizenship act in
A) 1963 B) 1952
C) 1955 D) 1989
AoRP), 03I FoIIE[I, TR Webd TRF
A) 1963
B) 1952
C) 153
D) 1989

Where is the scat of the supreme court located?
A) Chandigarh B) New Delhi
C) Kolkata D) Ahamadabad
LT TRLEIFS FZoxI €8 2O I?
A) wobng
B) IZBBO
C) &pte,3
D) exDTIs*
Which is not the fundamental right?
A) Right to resist.
C) Right to constitutional remedies
abe)@ sheozied BF,Ndie)de).
A) [y3PLTo B,
B) X3 RS B,
C) R0dPoT03, T S0DFTTT BB,
D) §RFT A9, 3030 B,
Which article of the Indian constitution deals with procedure of amending the constitution?
A) Article 368 B) Article 365
C)Article 352 D) Article 268
23903 AOLRNE O319E IR0 F0ITRNE 3T [RAD JFNER,
307307
A) 3883 20

B) 3653 00

B) Right to assemble
D) Right to freedom of religion.

C) 3523 20

D) 2683 25.
Which fundamental right was dropped from the list of fundamental rights by 44*
Amendment?

A) Right to property
C) Right to constitutional remedies

B) Right to equality
D) Right against exploitation.
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O3 el BTN, 4183 3D [B SROT RWIAI By, M’

F&3 ,AoT 3richernnd?
A) 320D B,
B) ISTRI30H B,
C) ROIGRT3, T SDTIOT BR),
D) JAtRBAdD AT, T,
The main aim of directive principles of state policy is to establish.

A) Wellare state B) Democratic state
0) Capitalistic state D) Communist stale
Oo25 008 ATEETT 33N D T LTI TRDRITHTNG.

A) T To%s
B) &R 33T Doy
C) WORTOY IR Tasg
D) RHIo0d Tazsg
Right to frecdom of religion is one of the

A) Fundamcntal nghts B) Labour nghts
C) Political nights D) Economic rights
RIFT A I0I3 T B, 2O

A) DROIPI B,

B) T0eDF T B,

C) TDozdtod ™I,

D) &SBFT B®I),
Which is the permanent housc of parliament?

A) Lok Sabha B) Rajya Sabha

C) Legislatve assembly D) Legislative council
RORIS I3 AT OeHE?

A) SrtsRd

B) Tozsae3

C) AIaL3

D) S S0RIY,
Who was the first president of [ndian Republic

A) Dr. Radhakridhan B) Dr. Zakir Hussain

C) Dr. V.V.Gin D) Dr. Babu Rajendra Prasad

23903 10 Tzt &G TR, 838 03500aNe3 8o?

A) 3. DOL3RTH ,,*

B) T30. Qu0d(0* BOALN®

C) . J.ND

D) T3. W) U220 &=t
Which article does separate executive from judiciary?

A) 50 B) 38

C)s2 D) 40

ainE PO FIOIPFONDOT Jos03R0NR), F3L8033 ?

A) 50

B) 38
C) 52
D) 40
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